Dividing Money (A)

—

10.

Calculate each quotient.

89 ) €4470.47 2. 93) €8544.84 3. 42) €3610.74
59 ) €4001.38 5. 71) €3503.14 6. 93) €2652.36
34 ) €2067.88 & 95) €8457.85 9. 90 €5427.90

If 76 identical lanterns cost €5485.68, how much did each lantern cost?
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Dividing Money (A) Answers

10.

€50.23

80 ) €4470.47
—€4450.00

€20.47
—€17.80

€2.67
—€2.67

€0.00

€67.82

59 ) €4001.38
—€3540.00

€461.38
—€413.00

€48.38
—€47.20

€1.18
—€1.18

€0.00

€60.82

34 ) €2067.88
—€2040.00

€27.88
—€27.20

€0.68
—€0.68

€0.00

Calculate each quotient.

€91.88

93 ) €8544.84
—€8370.00

€174.84
—€93.00

€81.84
—€74.40

€7.44
—€7.44

€0.00

€49.34

71) €3503.14
—€2840.00

€663.14
—€639.00

€24.14
—€21.30

€2.84
—€2.84

€0.00

€89.03

95 ) €8457.85
—€7600.00

€857.85
—£€855.00

€2.85
—€2.85

<€0.00

€85.97

42 ') €3610.74
—€3360.00

€250.74
—€210.00

€40.74
—€37.80

€2.94
—€2.94

€0.00

€28.52

93 ) €2652.36
—£€1860.00

€792.36
—€744.00

€48.36
—€46.50

€1.86
—€1.86

€0.00

€60.31

00 ) €5427.90
—€5400.00

€27.90
—€27.00

€0.90
—<0.90

€0.00

If 76 identical lanterns cost €5485.68, how much did each lantern cost?

€72.18
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